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AP Calculus AB
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Analytical Approach to Finding Limits

Find the value of esdch imit. For a limit that does not exist, state why.
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< 210 lim F(x) =2 and lim g{x)=—4, find each of the following limits. Show vour analysis
X3 x—33
applving
~ the properties of hmits. '
13 *-“t:x)} b him [0+ 2(0)] -
1 J / c.
’ xins{ £0) . X

5(';3. - D

- \_,\. T -

4. fim 59 e lim [37()~g()] ¢ [ﬂx}g(x:n}
ke’ x—+3 o R )

4 A3 - () N
__L%_; o (D . -g

[ 2 } 2

- o=

N

AN .
c;;b[f hm f(x)=0and hm g(x)=3, find each of the foliowing limits. Show vour analysts applying
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the properties of limits.
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